1. REEERITINR (B 7TF4H D)

XHAR | XHES X WES SH(F)
4B4R | 2B |MEERCOBRIREON(RE) 6,000
2B4E DTS A2 SEREH) TV 7 JEF 0~ T8 | 3500
4B4H RS AE22ERER— TRERARIIBICHES BRS 2,200
4B4H E—ET ASESERAAPANNABFHEARLISICHS BHE 2,200
4H4H TOft  |EARRADFLE 6,000
ARNA | 28 |SERILEISEERSOREHE) 10,000
4128 | £E  |EELERRS BXERAREHAON (S8) 6,000
4R15A | 2% |THHNEHKEOBRIRON(SHE) 5,000
4R15E | BE  |RTHE REFHE SHRORER) 5,000
4AB18E | BN  |EBEEE ERRSEZORIER) 3,500
4R18E | ER  |TEEEE ERREEE0RTER) 3,500
AB18E | BN |EEEEE ERRSE2ORIER) 3,500
AR18E | B |TEEEE ERRSEE0RGER) 3,500
4A258 | £E  |RATOARBARKE BEAOH (RHE) 5,500
4A258 | 28 |BrUEEEREREGHE) 10,000
4F308 | BE |RTHA REEHE SHRORER 5,000

a &t 79,100




2. % FH(BH7TFER)

bRy | H(ERY) | REHER | 2EERD) | RE#

= = 6 6 42,500 42,500
- i 4 4 14,000 14,000
B & 2 2 10,000 10,000
8 & W 0 0 0 0
B & 0 0 0 0
> i 3 3 6,600 6,600
T D 1 1 6,000 6,000
a 5 16 16 79,100 79,100




